		BaseLine Item Detail	Ferreira Const	ruction Co. Inc.	Schiavone Cons	truction Co. LLC	Joseph M. S	Sanzari, Inc.	D'Annunzio	& Sons, Inc.	Conti Enter	prises, Inc.
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price I	Line Total
1 104-0001	1 L.S.	Construction Layout	\$200,000.00	\$200,000.00	\$123,294.01	\$123,294.01	\$275,000.00	\$275,000.00	\$850,000.00	\$850,000.00	\$700,000.00	\$700,000.00
2 104-0002	1.00 L.S.	Mobilization	\$1,420,000.00	\$1,420,000.00	\$3,144,946.71	\$3,144,946.71	\$1,750,000.00	\$1,750,000.00	\$1,700,000.00	\$1,700,000.00	\$1,775,000.00	\$1,775,000.00
3 107-0001	1 L.S.	Progress Schedule	\$20,000.00	\$20,000.00	\$30,893.49	\$30,893.49	\$30,000.00	\$30,000.00	\$22,038.00	\$22,038.00	\$50,000.00	\$50,000.00
4 108-0001	15,000.00 USD	Fuel Price Adjustment (No-Bid)	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00
5 202-0002	5,835.00 C.Y.	Roadway Excavation, Earth	\$62.00	\$361,770.00	\$43.99	\$256,681.65	\$110.00	\$641,850.00	\$30.00	\$175,050.00	\$75.00	\$437,625.00
6 202-N0001	100.00 C.Y.	Handling, Loading, Transportation, and Disposal of Contaminated Soil	\$100.00	\$10,000.00	\$188.97	\$18,897.00	\$50.00	\$5,000.00	\$150.00	\$15,000.00	\$75.00	\$7,500.00
7 203-0002	98 C.Y.	Embankment, Grade A	\$50.00	\$4,900.00	\$19.03	\$1,864.94	\$125.00	\$12,250.00	\$100.00	\$9,800.00	\$100.00	\$9,800.00
8 203-0004	685 C.Y.	Porous Fill	\$232.00	\$158,920.00	\$69.17	\$47,381.45	\$125.00	\$85,625.00	\$140.00	\$95,900.00	\$114.00	\$78,090.00
9 207-0061	5 Ton	Filter Blanket	\$150.00	\$750.00	\$793.61	\$3,968.05	\$30.00	\$150.00	\$300.00	\$1,500.00	\$290.00	\$1,450.00
10 208-0007	2,500.00 L.F.	Silt Fence	\$20.00	\$50,000.00	\$11.06	\$27,650.00	\$8.00	\$20,000.00	\$6.00	\$15,000.00	\$8.50	\$21,250.00
11 208-0022	20 Each	Inlet Filter, Type 2	\$300.00	\$6,000.00	\$365.24	\$7,304.80	\$275.00	\$5,500.00	\$200.00	\$4,000.00	\$190.00	\$3,800.00
12 208-N0001	1.00 Each	Concrete Washout Facility	\$10,000.00	\$10,000.00	\$12,309.13	\$12,309.13	\$2,500.00	\$2,500.00	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00
13 208-N0009	1.00 Each	Oil-Only Emergency Spill Kit, Type 1	\$3,000.00	\$3,000.00	\$1,222.46	\$1,222.46	\$750.00	\$750.00	\$1,300.00	\$1,300.00	\$1,250.00	\$1,250.00
14 210-0002	1 L.S.	Demolition Of Existing Structures No. 1	\$800,000.00	\$800,000.00	\$383,391.07	\$383,391.07	\$925,000.00	\$925,000.00	\$2,850,000.00	\$2,850,000.00	\$1,000,000.00	\$1,000,000.00
15 301-0001	12,285.00 S.Y.	Aggregate Base Course, 6.5in Thick	\$22.00	\$270,270.00	\$27.86	\$342,260.10	\$25.00	\$307,125.00	\$12.00	\$147,420.00	\$23.75	\$291,768.75
16 302-0001	2,040.00 Ton	Hot Mix Asphalt 19M 76 Intermediate Course	\$266.00	\$542,640.00	\$271.52	\$553,900.80	\$210.00	\$428,400.00	\$140.00	\$285,600.00	\$190.00	\$387,600.00
17 302-0002	2,780.00 Ton	Hot Mix Asphalt 35M64 Page Course	\$295.00	\$820,100.00	\$211.19	\$587,108.20	\$250.00	\$695,000.00	\$260.00	\$722,800.00	\$200.00	\$556,000.00
18 302-0004	5,220.00 Ton	Hot Mix Asphalt 25M64 Base Course	\$276.00	\$1,440,720.00	\$181.02	\$944,924.40	\$175.00	\$913,500.00	\$100.00	\$522,000.00	\$145.00	\$756,900.00
19 302-0062 20 302-0063	3,250.00 S.Y. 25,000.00 USD	Membrane Waterproofing	\$35.00 \$1.00	\$113,750.00 \$25,000.00	\$47.72 \$1.00	\$155,090.00 \$25,000.00	\$30.00 \$1.00	\$97,500.00 \$25,000.00	\$16.00 \$1.00	\$52,000.00 \$25,000.00	\$30.50 \$1.00	\$99,125.00
21 302-0064	1,160.00 GAL	Asphalt Price Adjustment (No-Bid) Tack Coat	\$1.00	\$25,000.00	\$1.00 \$7.24		\$1.00		\$1.00 \$5.00	\$25,000.00	\$1.00 \$12.00	\$25,000.00
22 302-0065	1,000.00 GAL	Cleaning Inside Shoulders	\$0.10	\$6,960.00	\$7.24 \$2.65	\$8,398.40 \$2,650.00	\$1.00	\$9,280.00 \$1,000.00	\$2.00	\$2,000.00	\$1.25	\$13,920.00 \$1,250.00
23 302-0066	1,000.00 L.F.	Cleaning Outside Shoulders	\$0.10	\$100.00	\$2.65	\$2,650.00	\$1.00	\$1,000.00	\$2.00	\$2,000.00	\$1.25 \$1.25	\$1,250.00
24 302-0068	20 Ton	High Performance Cold Patch	\$575.00	\$100.00	\$1,428.83	\$28,576.60	\$650.00	\$13,000.00	\$320.00	\$6,400.00	\$175.00	\$3,500.00
25 302-0008	5,140.00 L.F.	Polymerized Joint Adhesive	\$3.00	\$15,420.00	\$1,428.83	\$9,303.40	\$1.00	\$5,140.00	\$4.00	\$20,560.00	\$1.00	\$5,140.00
26 302-N0001	500 L.F.	Sealing Cracks in Bituminous Surface	\$0.01	\$5.00	\$8.45	\$4,225.00	\$2.00	\$1,000.00	\$2.00	\$1,000.00	\$6.00	\$3,000.00
27 302-N0001	30 Ton	Temporary Surfacing	\$3,000.00	\$90,000.00	\$301.69	\$9,050.70	\$2,500.00	\$75,000.00	\$1,200.00	\$36,000.00	\$500.00	\$15,000.00
28 303-0001	845 S.Y.	Berm Surfacing, 3 Inches Thick	\$115.00	\$97,175.00	\$66.37	\$56,082.65	\$60.00	\$50,700.00	\$52.00	\$43,940.00	\$100.00	\$84,500.00
29 303-N0001	2,150.00 S.Y.	Shoulder Reconstruction	\$135.00	\$290,250.00	\$216.36	\$465,174.00	\$85.00	\$182,750.00	\$65.00	\$139,750.00	\$80.00	\$172,000.00
30 304-0002	70 S.Y.	Bridge Approach Slab	\$1,400.00	\$98,000.00	\$267.71	\$18,739.70	\$650.00	\$45,500.00	\$500.00	\$35,000.00	\$805.00	\$56,350.00
31 304-N0001	50 S.F.	Approach Slab Spall Repair, Type 1	\$10.00	\$500.00	\$164.33	\$8,216.50	\$75.00	\$3,750.00	\$80.00	\$4,000.00	\$150.00	\$7,500.00
32 304-N0002	50 S.F.	Approach Slab Spall Repair, Type 2	\$10.00	\$500.00	\$437.12	\$21,856.00	\$90.00	\$4,500.00	\$125.00	\$6,250.00	\$300.00	\$15,000.00
33 305-0011	50 S.Y.	Surface Milling, 3in Average Depth	\$12.00	\$600.00	\$96.59	\$4,829.50	\$45.00	\$2,250.00	\$25.00	\$1,250.00	\$75.00	\$3,750.00
34 305-0031	19,220.00 S.Y.	Pavement Removal, Variable Depth	\$36.00	\$691,920.00	\$16.38	\$314,823.60	\$16.00	\$307,520.00	\$12.00	\$230,640.00	\$12.50	\$240,250.00
35 306-0001	4,860.00 L.F.	Milled Rumble Strip	\$13.00	\$63,180.00	\$2.43	\$11,809.80	\$7.00	\$34,020.00	\$2.20	\$10,692.00	\$3.50	\$17,010.00
36 401-0004	400,500.00 LB	Reinforcement Steel, Galvanized	\$2.50	\$1,001,250.00	\$2.53	\$1,013,265.00	\$2.75	\$1,101,375.00	\$2.75	\$1,101,375.00	\$2.25	\$901,125.00
37 401-0009	35.00 C.Y.	Concrete In Bridge Parapet	\$1,700.00	\$59,500.00	\$2,470.57	\$86,469.95	\$1,900.00	\$66,500.00	\$1,500.00	\$52,500.00	\$1,600.00	\$56,000.00
38 401-0011	65 C.Y.	Concrete In Substructure Above Footings	\$2,000.00	\$130,000.00	\$1,058.84	\$68,824.60	\$2,750.00	\$178,750.00	\$2,500.00	\$162,500.00	\$2,000.00	\$130,000.00
39 401-0035	950 Each	Drill and Grout Reinforcement Bars	\$30.00	\$28,500.00	\$30.15	\$28,642.50	\$40.00	\$38,000.00	\$50.00	\$47,500.00	\$60.00	\$57,000.00
40 401-0067	34,800.00 LB	Reinforcement Steel, Epoxy Coated	\$2.27	\$78,996.00	\$2.17	\$75,516.00	\$2.50	\$87,000.00	\$2.40	\$83,520.00	\$2.00	\$69,600.00
41 401-0068	1,120.00 L.F.	Strip Seal Expansion Joints	\$825.00	\$924,000.00	\$581.81	\$651,627.20	\$750.00	\$840,000.00	\$350.00	\$392,000.00	\$680.00	\$761,600.00
42 401-0070	1,100.00 S.F.	Concrete Penetrating Sealer Treatment	\$2.30	\$2,530.00	\$2.36	\$2,596.00	\$2.00	\$2,200.00	\$2.00	\$2,200.00	\$7.50	\$8,250.00
43 401-0072	5,110.00 S.Y.	Sawcut Grooved Deck Surface	\$22.00	\$112,420.00	\$8.87	\$45,325.70	\$15.00	\$76,650.00	\$7.50	\$38,325.00	\$14.50	\$74,095.00
44 401-N0009	5,500.00 Each	Reinforcement Bar Coupler, Galvanized	\$33.00	\$181,500.00	\$85.16	\$468,380.00	\$40.00	\$220,000.00	\$60.00	\$330,000.00	\$35.00	\$192,500.00
45 403-0001	6,900.00 Each	Shear Connectors	\$13.00	\$89,700.00	\$5.43	\$37,467.00	\$10.00	\$69,000.00	\$8.50	\$58,650.00	\$5.50	\$37,950.00
46 403-0022	57,000.00 LB	Structural Steel	\$22.00	\$1,254,000.00	\$17.88	\$1,019,160.00	\$18.00	\$1,026,000.00	\$12.00	\$684,000.00	\$20.00	\$1,140,000.00
47 403-N0006	1 L.S.	Structural Steel Structure No. 1	\$2,390,000.00	\$2,390,000.00	\$2,233,222.67	\$2,233,222.67	\$2,400,000.00	\$2,400,000.00	\$2,560,000.00	\$2,560,000.00	\$2,750,000.00	\$2,750,000.00
48 407-N0012	12 Each	HLMR Bearing, 150 Kips - 250 Kips (Type 3 - Fixed)	\$9,250.00	\$111,000.00	\$7,686.06	\$92,232.72	\$9,000.00	\$108,000.00	\$13,000.00	\$156,000.00	\$8,500.00	\$102,000.00
49 407-N0013	6 Each	HLMR Bearing, 250 Kips - 350 Kips (Type 4 - Fixed)	\$9,250.00	\$55,500.00	\$8,473.21	\$50,839.26	\$9,000.00	\$54,000.00	\$13,000.00	\$78,000.00	\$10,800.00	\$64,800.00
50 407-N0014	12 Each	HLMR Bearings, 150 Kips - 250 Kips (Type 1 - Guided Expansion)	\$9,250.00	\$111,000.00	\$7,680.64	\$92,167.68	\$9,000.00	\$108,000.00	\$13,500.00	\$162,000.00	\$7,500.00	\$90,000.00
51 407-N0015	6.00 Each	HLMR Bearings, 250 Kips - 350 Kips (Type 2 - Guided Expansion)	\$9,250.00	\$55,500.00	\$7,099.36	\$42,596.16	\$9,000.00	\$54,000.00	\$15,000.00	\$90,000.00	\$8,800.00	\$52,800.00
52 408-0048	8 Each	Laminated Elastomeric Bearing, 11in X 13in	\$8,300.00	\$66,400.00	\$5,821.24	\$46,569.92	\$6,000.00	\$48,000.00	\$6,000.00	\$48,000.00	\$7,500.00	\$60,000.00
53 408-0074	4 Each	Laminated Elastomeric Bearing, 12In X 16In	\$8,300.00	\$33,200.00	\$6,464.92	\$25,859.68	\$24,000.00	\$96,000.00	\$7,200.00	\$28,800.00	\$8,000.00	\$32,000.00
54 408-0075	3 Each	Laminated Elastomeric Bearing, 8In X 10In, Guided	\$8,300.00	\$24,900.00	\$5,987.39 \$6,531.01	\$17,962.17	\$6,000.00	\$18,000.00	\$6,500.00	\$19,500.00	\$7,100.00	\$21,300.00
55 408-0076 56 408 0077	15 Each	Laminated Elastomeric Bearing, 11ln X 13ln, Guided	\$8,300.00	\$124,500.00	\$6,521.01	\$97,815.15	\$6,500.00	\$97,500.00	\$6,200.00	\$93,000.00	\$7,900.00	\$118,500.00
56 408-0077 57 408 0078	16 Each	Laminated Elastomeric Bearing, 13In X 13In Laminated Elastomeric Bearing, 8In X 10In	\$8,300.00	\$132,800.00	\$6,263.52	\$100,216.32	\$6,300.00	\$100,800.00	\$6,200.00	\$99,200.00	\$7,600.00	\$121,600.00
57 408-0078 58 408-0079	11 Each 9.00 Each	Laminated Elastomeric Bearing, 8In X 10In Laminated Elastomeric Bearing, 10In X 10In	\$8,300.00 \$8,300.00	\$91,300.00 \$74,700.00	\$5,350.21 \$5,612.54	\$58,852.31 \$50,512.86	\$5,500.00 \$5,700.00	\$60,500.00 \$51,300.00	\$6,500.00 \$6,200.00	\$71,500.00 \$55,800.00	\$6,900.00 \$7,200.00	\$75,900.00 \$64,800.00
59 408-0079 59 408-0080	12.00 Each	Laminated Elastomeric Bearing, 10in X 10in Laminated Elastomeric Bearing, 11in X 8in	\$8,300.00	\$74,700.00	\$5,612.54 \$5,668.97	\$68,027.64	\$5,700.00	\$168,000.00	\$6,200.00	\$55,800.00	\$7,200.00 \$7,300.00	\$87,600.00
JJ 400-0000	12.00 EdCII	Laminated Liastonicine Dearing, 11111 A OIII	აი,ასს.სს	00.000,666	75.000,57	40.027.04	₹14,000.00	\$100,000.00	00,500.00	0.000.00	00.000, ر ډ	707,000.00

		BaseLine Item Detail	Ferreira Const	truction Co. Inc.	Schiavone Cons	struction Co. LLC	Joseph M.	Sanzari, Inc.	D'Annunzio	& Sons, Inc.	Conti Ente	erprises, Inc.
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
60 408-0081	6 Each	Laminated Elastomeric Bearing, 11In X 11In	\$8,300.00	\$49,800.00	\$6,340.01	\$38,040.06	\$24,000.00	\$144,000.00	\$6,500.00	\$39,000.00	\$9,800.00	\$58,800.00
61 408-0082	4 Each	Laminated Elastomeric Bearing, 15In X 16In, Guided	\$9,250.00	\$37,000.00	\$8,350.70	\$33,402.80	\$24,000.00	\$96,000.00	\$6,800.00	\$27,200.00	\$9,100.00	\$36,400.00
62 408-0083	3 Each	Laminated Elastomeric Bearing, 11In X 8In, Guided	\$8,300.00	\$24,900.00	\$6,390.53	\$19,171.59	\$6,500.00	\$19,500.00	\$6,800.00	\$20,400.00	\$7,500.00	\$22,500.00
63 408-0084	3 Each	Laminated Elastomeric Bearing, 11In X 11In, Guided	\$8,300.00	\$24,900.00	\$7,121.84	\$21,365.52	\$6,300.00	\$18,900.00	\$6,800.00	\$20,400.00	\$8,100.00	\$24,300.00
64 411-N0001	24,000.00 S.F.	Painting Existing Steelwork	\$50.00	\$1,200,000.00	\$78.44	\$1,882,560.00	\$100.00	\$2,400,000.00	\$48.00	\$1,152,000.00	\$70.00	\$1,680,000.00
65 412-0001	2 Each	Inlet Frames and Grates	\$6,200.00	\$12,400.00	\$17,766.69	\$35,533.38	\$6,200.00	\$12,400.00	\$5,000.00	\$10,000.00	\$13,000.00	\$26,000.00
66 412-0003	85.00 L.F.	8in Drainage Pipe, Fiberglass	\$50.00	\$4,250.00	\$362.03	\$30,772.55	\$450.00	\$38,250.00	\$300.00	\$25,500.00	\$200.00	\$17,000.00
67 412-N0003	10 Each	Weld Existing Inlet Grate	\$675.00	\$6,750.00	\$96.86	\$968.60	\$1,500.00	\$15,000.00	\$1,000.00	\$10,000.00	\$1,200.00	\$12,000.00
68 413-0004	120.00 S.Y.	Repair Concrete Slope Protection	\$425.00	\$51,000.00	\$167.58	\$20,109.60	\$511.00	\$61,320.00	\$750.00	\$90,000.00	\$250.00	\$30,000.00
69 415-0001	700.00 S.F.	Temporary Sheeting	\$90.00	\$63,000.00	\$65.03	\$45,521.00	\$200.00	\$140,000.00	\$140.00	\$98,000.00	\$50.00	\$35,000.00
70 417-0002	3,640.00 S.Y.	Removal of Existing Concrete Deck	\$325.00	\$1,183,000.00	\$183.56	\$668,158.40	\$320.00	\$1,164,800.00	\$400.00	\$1,456,000.00	\$380.00	\$1,383,200.00
71 417-0004	490 S.Y.	Concrete Deck Replacement	\$720.00	\$352,800.00	\$189.39	\$92,801.10	\$766.00	\$375,340.00	\$800.00	\$392,000.00	\$1,125.00	\$551,250.00
72 417-0008	150 Each	Reinforcement Bar Coupler	\$42.00	\$6,300.00	\$92.50	\$13,875.00	\$35.00	\$5,250.00	\$65.00	\$9,750.00	\$35.00	\$5,250.00
73 417-0009	6,550.00 S.Y.	Removal of Existing Surfacing	\$50.00	\$327,500.00	\$24.14	\$158,117.00	\$40.00	\$262,000.00	\$45.00	\$294,750.00	\$20.00	\$131,000.00
74 417-0013	50 S.F.	Spall Repair, Type 1	\$1.00	\$50.00	\$204.92	\$10,246.00	\$82.00	\$4,100.00	\$70.00	\$3,500.00	\$140.00	\$7,000.00
75 417-0014	50 S.F.	Spall Repair, Type 2	\$1.00	\$50.00	\$251.85	\$12,592.50	\$245.00	\$12,250.00	\$70.00	\$3,500.00	\$70.00	\$3,500.00
76 417-0015	50 S.F.	Spall Repair, Type 4	\$1.00	\$50.00	\$707.50	\$35,375.00	\$434.00	\$21,700.00	\$150.00	\$7,500.00	\$280.00	\$14,000.00
77 417-0016	4,000.00 S.F.	Spall Repair, Type 5	\$1.00	\$4,000.00	\$185.67	\$742,680.00	\$78.00	\$312,000.00	\$100.00	\$400,000.00	\$125.00	\$500,000.00
78 417-0018	50 S.F.	Spall Repair, Type 6	\$1.00	\$50.00	\$1,448.66	\$72,433.00	\$226.00	\$11,300.00	\$150.00	\$7,500.00	\$280.00	\$14,000.00
79 417-0019	50 S.F.	Spall Repair, Type 5B	\$1.00	\$50.00	\$239.99	\$11,999.50	\$120.00	\$6,000.00	\$140.00	\$7,000.00	\$145.00	\$7,250.00
80 417-0020	500 L.F.	Joint Reconstruction, Type 1	\$835.00	\$417,500.00	\$749.86	\$374,930.00	\$320.00	\$160,000.00	\$600.00	\$300,000.00	\$550.00	\$275,000.00
81 417-0021	600 L.F.	Joint Seal Replacement, Type 1	\$80.00	\$48,000.00	\$72.70	\$43,620.00	\$190.00	\$114,000.00	\$90.00	\$54,000.00	\$80.00	\$48,000.00
82 417-0033	40 S.F.	Repair Underdeck Spalls (Clean and Coat)	\$25.00	\$1,000.00	\$1,695.50	\$67,820.00	\$80.00	\$3,200.00	\$275.00	\$11,000.00	\$825.00	\$33,000.00
83 417-0037	60 L.F.	Joint Reconstruction, Type 2	\$920.00	\$55,200.00	\$955.19	\$57,311.40	\$350.00	\$21,000.00	\$600.00	\$36,000.00	\$440.00	\$26,400.00
84 417-0039	1 L.S.	Furnishing, Installation And Removal Of Temporary Catch, Location No. 1	\$72,000.00	\$72,000.00	\$58,481.52	\$58,481.52	\$75,000.00	\$75,000.00	\$100,000.00	\$100,000.00	\$250,000.00	\$250,000.00
85 417-0067	50 L.F.	Silicone Joint Seal	\$5.00	\$250.00	\$0.66	\$33.00	\$50.00	\$2,500.00	\$100.00	\$5,000.00	\$28.00	\$1,400.00
86 417-0068	100 L.F.	Deck Joint Reconstruction	\$350.00	\$35,000.00	\$889.50	\$88,950.00	\$500.00	\$50,000.00	\$700.00	\$70,000.00	\$365.00	\$36,500.00
87 417-0070	70.00 L.F.	Headblock Repair, Type 1	\$650.00	\$45,500.00	\$645.94	\$45,215.80	\$475.00	\$33,250.00	\$400.00	\$28,000.00	\$620.00	\$43,400.00
88 417-0084	40 L.F.	Parapet Reconstruction Location No. 1	\$1,000.00	\$40,000.00	\$422.64	\$16,905.60	\$700.00	\$28,000.00	\$1,000.00	\$40,000.00	\$790.00	\$31,600.00
89 417-0089	1,040.00 L.F.	Parapet Reconstruction, Location No. 2	\$1,600.00	\$1,664,000.00	\$415.66	\$432,286.40	\$1,250.00	\$1,300,000.00	\$1,900.00	\$1,976,000.00	\$930.00	\$967,200.00
90 417-0090	170.00 L.F.	Parapet Reconstruction, Location No. 3	\$1,000.00	\$170,000.00	\$415.23	\$70,589.10	\$950.00	\$161,500.00	\$1,500.00	\$255,000.00	\$650.00	\$110,500.00
91 417-0104	3,800.00 S.Y.	Catches	\$90.00	\$342,000.00	\$231.34	\$879,092.00	\$180.00	\$684,000.00	\$200.00	\$760,000.00	\$168.00	\$638,400.00
92 417-0118	1 L.S.	Furnishing, Installation and Removal of Temporary Catch, Location No. 3	\$300,000.00	\$300,000.00	\$132,384.82	\$132,384.82	\$175,000.00	\$175,000.00	\$250,000.00	\$250,000.00	\$500,000.00	\$500,000.00
93 417-N0003	6,900.00 L.F.	Reinforcement Steel, Field Anti-Corrosion Coating	\$1.50		\$2.91	\$20,079.00	\$1.00	\$6,900.00	\$3.00	\$20,700.00	\$2.00	\$13,800.00
94 417-N0009	1 L.S.	Furnishing, Installation and Removal of Temporary Catch, Location No. 2	\$728,000.00	\$728,000.00	\$474,485.88	\$474,485.88	\$800,000.00	\$800,000.00	\$800,000.00	\$800,000.00	\$2,150,000.00	\$2,150,000.00
95 417-N0027	450 S.Y.	Furnishing and Installing SIP Metal Forms	\$300.00	\$135,000.00	\$23.03	\$10,363.50	\$400.00	\$180,000.00	\$100.00	\$45,000.00	\$325.00	\$146,250.00
96 418-0001	900 S.F.	Repair Spalled Concrete, Type 1 - Abutment	\$450.00	\$405,000.00	\$414.54	\$373,086.00	\$325.00	\$292,500.00	\$225.00	\$202,500.00	\$340.00	\$306,000.00
97 418-0002	100.00 S.F.	Repair Spalled Concrete, Type 2 - Abutment	\$460.00		\$368.95	\$36,895.00	\$345.00	\$34,500.00	\$350.00	\$35,000.00	\$380.00	\$38,000.00
98 418-0003	100 S.F.	Repair Spalled Concrete, Type 2 - Pier	\$460.00	\$46,000.00	\$582.81	\$58,281.00	\$350.00	\$35,000.00	\$300.00	\$30,000.00	\$390.00	\$39,000.00
99 418-0004	30.00 Each	Repair of Structural Steel, Type A	\$4,500.00		\$7,980.92	\$239,427.60	\$4,200.00	\$126,000.00	\$8,000.00	\$240,000.00	\$5,000.00	\$150,000.00
100 418-0005	5 Each	Repair of Structural Steel, Type B	\$4,000.00		\$3,722.83	\$18,614.15	\$3,700.00	\$18,500.00	\$5,000.00	\$25,000.00	\$4,600.00	\$23,000.00
101 418-0006	10.00 Each	Repair of Structural Steel, Type C	\$4,500.00		\$4,780.95	\$47,809.50	\$3,700.00	\$37,000.00	\$6,500.00	\$65,000.00	\$4,500.00	\$45,000.00
102 418-0007	2 Each	Repair of Structural Steel, Type D	\$5,000.00		\$15,498.43	\$30,996.86	\$10,000.00	\$20,000.00	\$9,500.00	\$19,000.00	\$8,000.00	\$16,000.00
103 418-0008	4 Each	Repair of Structural Steel, Type E	\$30,000.00		\$16,212.17	\$64,848.68	\$40,000.00	\$160,000.00	\$45,000.00	\$180,000.00	\$35,000.00	\$140,000.00
104 418-0009	4 Each	Repair of Structural Steel, Type F	\$15,000.00		\$21,749.13	\$86,996.52	\$32,000.00	\$128,000.00	\$20,000.00	\$80,000.00	\$26,000.00	\$104,000.00
105 418-0010	1 Each	Repair of Structural Steel, Type G	\$13,000.00		\$14,822.27	\$14,822.27	\$17,000.00	\$17,000.00	\$12,500.00	\$12,500.00	\$17,500.00	\$17,500.00
106 418-0011	2,500.00 S.F.	Repair Spalled Concrete, Type 1 - Pier	\$450.00		\$328.71	\$821,775.00	\$375.00	\$937,500.00	\$250.00	\$625,000.00	\$245.00	\$612,500.00
107 418-0023	180 L.F.	Epoxy Resin Injection	\$75.00		\$211.19	\$38,014.20	\$45.00	\$8,100.00	\$185.00	\$33,300.00	\$50.00	\$9,000.00
108 418-0024	100 S.F.	Substructure Waterproofing	\$5.00		\$12.07	\$1,207.00	\$15.00	\$1,500.00	\$13.00	\$1,300.00	\$42.00	\$4,200.00
109 418-0025	8,800.00 S.F.	Substructure Membrane Waterproofing	\$11.50		\$12.85	\$113,080.00	\$18.00	\$158,400.00	\$17.00	\$149,600.00	\$12.00	
110 418-0028	56 Each	Reconstruct Bearing Area	\$5,500.00		\$3,050.17	\$170,809.52	\$9,500.00	\$532,000.00	\$7,500.00	\$420,000.00	\$7,000.00	
111 418-0039	10 Each	Replace Anchor Bolt	\$1,000.00		\$452.00	\$4,520.00	\$750.00	\$7,500.00	\$1,500.00	\$15,000.00	\$2,500.00	
112 418-0040	100 L.F.	Clean Bridge Seat	\$1.00		\$56.56	\$5,656.00	\$18.00	\$1,800.00	\$45.00	\$4,500.00	\$28.00	
113 418-0051	5 Each	Replace Structural Steel Diaphragm	\$11,000.00		\$7,298.46	\$36,492.30	\$15,000.00	\$75,000.00	\$9,200.00	\$46,000.00	\$14,000.00	
114 418-0053	145 Each	Temporary Support	\$2,565.00		\$6,422.14	\$931,210.30	\$4,000.00	\$580,000.00	\$8,000.00	\$1,160,000.00	\$7,250.00	
115 418-0055	100 Each	Replace Rivets with High Strength Bolts	\$2,505.00		\$137.09	\$13,709.00	\$650.00	\$65,000.00	\$150.00	\$15,000.00	\$265.00	
116 428-0001	1,400.00 C.Y.	Concrete in Deck, HPC	\$1,450.00		\$829.97	\$1,161,958.00	\$1,850.00	\$2,590,000.00	\$1,800.00	\$2,520,000.00	\$1,600.00	
117 428-0001	25 C.Y.	Concrete in Headblock, HPC	\$1,400.00		\$1,321.14	\$33,028.50	\$4,000.00	\$100,000.00	\$1,500.00	\$37,500.00	\$2,400.00	
118 428-0004	355.00 C.Y.	Concrete in Parapet, HPC	\$1,800.00		\$2,229.64	\$791,522.20	\$1,800.00	\$639,000.00	\$1,500.00		\$1,580.00	
110 420-0004	333.00 C.Y.	Concrete in raiapet, fire	\$1,000.00	, , , , , , , , , , , , , , , , , , , ,	32,229.04	\$131,522.2U	φ1,δυυ.υυ	00.000,8606	λ1,200.00	\$532,500.00	00.00در1ډ	00.005,000

		BaseLine Item Detail	Ferreira Construc	ction Co. Inc.	Schiavone Constr	ruction Co. LLC	Joseph M.	Sanzari, Inc.	D'Annunzio &	Sons, Inc.	Conti Enter	rprises, Inc.
Item No. Unit Code	Qty UOM	Description	Unit Price Li	ine Total U	Jnit Price L	ine Total	Unit Price	Line Total	Unit Price Li	ine Total	Unit Price	Line Total
119 428-0007	495 S.Y.	Bridge Approach Slab, HPC	\$775.00	\$383,625.00	\$333.75	\$165,206.25	\$400.00	\$198,000.00	\$600.00	\$297,000.00	\$865.00	\$428,175.00
120 499-N0002	160 S.F.	Remove and Reset Stone Masonry	\$175.00	\$28,000.00	\$90.51	\$14,481.60	\$450.00	\$72,000.00	\$300.00	\$48,000.00	\$85.00	\$13,600.00
121 499-N0007	120 L.F.	Repoint Stone Masonry	\$175.00	\$21,000.00	\$90.51	\$10,861.20	\$20.00	\$2,400.00	\$30.00	\$3,600.00	\$50.00	\$6,000.00
122 499-N0132	7 C.Y.	Concrete in Deck, UHPC	\$1,000.00	\$7,000.00	\$7,016.67	\$49,116.69	\$12,000.00	\$84,000.00	\$12,000.00	\$84,000.00	\$13,000.00	\$91,000.00
123 502-0005	60 L.F.	15 in Reinforced Concrete Pipe, Class III	\$75.00	\$4,500.00	\$97.62	\$5,857.20	\$160.00	\$9,600.00	\$250.00	\$15,000.00	\$140.00	\$8,400.00
124 502-0251	1,150.00 L.F.	Cleaning Existing Storm Drains	\$5.00	\$5,750.00	\$5.61	\$6,451.50	\$10.00	\$11,500.00	\$10.00	\$11,500.00	\$11.00	\$12,650.00
125 503-0003	1.00 Each	Inlet, Type D2	\$9,500.00	\$9,500.00	\$7,180.45	\$7,180.45	\$6,000.00	\$6,000.00	\$12,000.00	\$12,000.00	\$7,200.00	\$7,200.00
126 503-0007	1.00 Each	Inlet, Type D2 Doghouse	\$9,000.00	\$9,000.00	\$7,579.89	\$7,579.89	\$6,500.00	\$6,500.00	\$15,000.00	\$15,000.00	\$14,000.00	\$14,000.00
127 503-0008	2 Each	Inlet, Type D1	\$9,500.00	\$19,000.00	\$6,505.88	\$13,011.76	\$5,000.00	\$10,000.00	\$12,000.00	\$24,000.00	\$4,500.00	\$9,000.00
128 503-0252	6 Each	Reconstructed Inlet, Type D1, Using New Grate and Frame	\$1,750.00	\$10,500.00	\$3,433.98	\$20,603.88	\$3,500.00	\$21,000.00	\$3,200.00	\$19,200.00	\$3,900.00	\$23,400.00
129 505-0001	40 L.F.	Asphalt Concrete Lip Curb	\$200.00	\$8,000.00	\$96.54	\$3,861.60	\$200.00	\$8,000.00	\$35.00	\$1,400.00	\$50.00	\$2,000.00
130 509-0001	100 S.F.	Sign Panels	\$75.00	\$7,500.00	\$79.65	\$7,965.00	\$95.00	\$9,500.00	\$68.00	\$6,800.00	\$70.00	\$7,000.00
131 509-0002	100 L.F.	U-channel Post	\$60.00	\$6,000.00	\$60.34	\$6,034.00	\$65.00	\$6,500.00	\$55.00	\$5,500.00	\$55.00	\$5,500.00
132 509-0004	10.00 Each	Remove Signs	\$365.00	\$3,650.00	\$410.30	\$4,103.00	\$400.00	\$4,000.00	\$350.00	\$3,500.00	\$375.00	\$3,750.00
133 510-0001	2,450.00 L.F.	Beam Guide Rail	\$50.00	\$122,500.00	\$47.06	\$115,297.00	\$65.00	\$159,250.00		\$110,250.00	\$42.00	\$102,900.00
134 510-0014	5 Each	Parapet Connection, Type A	\$7,500.00	\$37,500.00	\$6,027.85	\$30,139.25	\$9,000.00	\$45,000.00		\$36,000.00	\$5,500.00	\$27,500.00
135 510-0015	4 Each	Parapet Connection, Type B	\$3,000.00	\$12,000.00	\$3,855.65	\$15,422.60	\$3,000.00	\$12,000.00	\$2,500.00	\$10,000.00	\$3,400.00	\$13,600.00
136 510-0031	2,390.00 L.F.	Removal of Beam Guide Rail	\$4.00	\$9,560.00	\$0.01	\$23.90	\$4.00	\$9,560.00		\$9,560.00	\$0.01	\$23.90
137 510-N0001	100 L.F.	Reset Beam Guide Rail with Existing Post	\$30.00	\$3,000.00	\$60.34	\$6,034.00	\$35.00	\$3,500.00	•	\$3,000.00	\$55.00	\$5,500.00
138 515-0002	25 Each	Delineator, Type CA-Y	\$255.00	\$6,375.00	\$102.58	\$2,564.50	\$300.00	\$7,500.00	•	\$6,250.00	\$95.00	\$2,375.00
139 516-0001	500 L.F.	Removable Wet Weather Pavement Marking Tape	\$1.50	\$750.00	\$3.62	\$1,810.00	\$4.00	\$2,000.00	•	\$2,000.00	\$3.25	\$1,625.00
140 516-0005	113,900.00 L.F.	Striping and Marking Removal, Hydromilling	\$0.95	\$108,205.00	\$0.91	\$103,649.00	\$1.00	\$113,900.00	· ·	\$91,120.00	\$0.80	\$91,120.00
141 516-0006	1,000.00 L.F.	Striping and Marking Removal, Mechanical	\$1.50	\$1,500.00	\$2.41	\$2,410.00	\$2.50	\$2,500.00		\$2,200.00	\$2.25	\$2,250.00
142 516-0007	172,500.00 L.F.	Temporary Pavement Striping	\$0.35	\$60,375.00	\$0.30	\$51,750.00	\$1.00	\$172,500.00	•	\$51,750.00	\$0.27	\$46,575.00
143 516-0009	23,500.00 L.F.	Traffic Stripes, Long-Life, Thermoplastic	\$1.75	\$41,125.00	\$1.51	\$35,485.00	\$1.25	\$29,375.00	•	\$30,550.00	\$1.35	\$31,725.00
144 516-N0001	1,000.00 L.F.	Removable Black Line Mask, 8in Wide	\$1.75	\$1,750.00	\$4.22	\$4,220.00	\$5.00	\$5,000.00		\$4,000.00	\$3.85	\$3,850.00
145 517-0003	1 L.S.	Furnish Field Office, Type C	\$19,604.00	\$19,604.00	\$128,176.86	\$128,176.86	\$35,000.00	\$35,000.00		\$35,000.00	\$75,000.00	\$75,000.00
146 517-0009	30.00 Mnth	Maintain Field Office, Type C	\$4,000.00	\$120,000.00	\$3,167.79	\$95,033.70	\$4,000.00	\$120,000.00		\$150,000.00	\$3,300.00	\$99,000.00
147 801-0021	4 Each	Furnishing Temporary Impact Attenuator (Cartridge), 8 Bays, 24 Inch Wide	\$7,000.00	\$28,000.00	\$21,721.99	\$86,887.96	\$15,000.00	\$60,000.00		\$120,000.00	\$15,000.00	\$60,000.00
148 801-0021	4.00 Each	Placing and Removing Temporary Impact Attenuator (Cartridge)	\$1,500.00	\$6,000.00	\$2,680.82	\$10,723.28	\$3,500.00	\$14,000.00		\$22,000.00	\$2,600.00	\$10,400.00
149 801-0022	4.00 Each	Repair and Reset Temporary Impact Attenuator (Cartridge)	\$400.00	\$1,600.00	\$13,541.81	\$54,167.24	\$3,500.00	\$14,000.00		\$7,200.00	\$1,800.00	\$7,200.00
		Raised Pavement Markers	•	\$5,000.00						\$5,000.00	\$44.00	
150 530-0001	125 Each 250000 USD	Force Account for Emergency and Routine Roadway and Bridge Repairs (No-Bid)	\$40.00	\$250,000.00	\$39.89 \$1.00	\$4,986.25	\$55.00 \$1.00	\$6,875.00		\$250,000.00	\$1.00	\$5,500.00
151 532-0001		, , ,	\$1.00		-	\$250,000.00	•	\$250,000.00				\$250,000.00
152 599-N0001	1 L.S.	Ride Quality Testing for Micro-Milled Deck Surfaces Micro-Milling Deck Surface	\$3,000.00	\$3,000.00	\$8,326.76	\$8,326.76	\$10,000.00	\$10,000.00		\$20,000.00	\$8,000.00	\$8,000.00
153 599-N0002	4,590.00 S.Y.	6	\$25.00	\$114,750.00	\$16.53	\$75,872.70	\$20.00	\$91,800.00	•	\$64,260.00	\$19.00	\$87,210.00
154 599-N0007	100 Each	Furnish and Install Raised Pavement Marker Reflective Lens	\$22.00	\$2,200.00	\$39.89	\$3,989.00	\$25.00	\$2,500.00		\$2,000.00	\$22.00	\$2,200.00
155 601-0001	1 L.S.	Remove and Salvage Existing Facilities	\$25,000.00	\$25,000.00	\$33,039.76	\$33,039.76	\$20,000.00	\$20,000.00		\$20,000.00	\$16,500.00	\$16,500.00
156 601-0003	21,000.00 L.F.	#2 A.W.G. Multiple Lighting Cable	\$7.50	\$157,500.00	\$9.79	\$205,590.00	\$7.00	\$147,000.00	•	\$115,500.00	\$5.75	\$120,750.00
157 601-0009	700 L.F.	3in Rigid Nonmetallic Conduit, PVC-(Schedule 40)	\$30.00	\$21,000.00	\$29.53	\$20,671.00	\$50.00	\$35,000.00		\$29,400.00	\$44.00	\$30,800.00
158 601-0019	3,600.00 L.F.	#4 A.W.G. Ground Wire	\$6.00	\$21,600.00	\$5.56	\$20,016.00	\$5.00	\$18,000.00		\$14,400.00	\$4.25	\$15,300.00
159 601-0022	18 Each	Junction Box, Type D	\$3,000.00	\$54,000.00	\$1,401.88	\$25,233.84	\$4,000.00	\$72,000.00		\$63,000.00	\$3,700.00	\$66,600.00
160 601-0134	480 L.F.	3in Rigid Metallic Conduit on Structures	\$60.00	\$28,800.00	\$90.58	\$43,478.40	\$75.00	\$36,000.00		\$29,760.00	\$66.00	\$31,680.00
161 601-N0005	30,000.00 USD	Miscellaneous Electrical Work (No-Bid)	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00		\$30,000.00	\$1.00	\$30,000.00
162 601-N0050	6,700.00 L.F.	3in Rigid Nonmetallic Conduit on Structures, PVC-(Schedule 80)	\$25.00	\$167,500.00	\$28.67	\$192,089.00	\$30.00	\$201,000.00		\$154,100.00	\$24.00	\$160,800.00
163 601-N0061	200 L.F.	3in Rigid Metallic Conduit, PVC Coated, Exposed	\$120.00	\$24,000.00	\$124.77	\$24,954.00	\$275.00	\$55,000.00		\$46,000.00	\$250.00	\$50,000.00
164 603-0008	1 Each	Lighting Standard, Type L-MG-26	\$4,000.00	\$4,000.00	\$11,858.83	\$11,858.83	\$4,500.00	\$4,500.00		\$4,000.00	\$3,900.00	\$3,900.00
165 603-0014	1 L.S.	Temporary Lighting Systems	\$200,000.00	\$200,000.00	\$95,314.81	\$95,314.81	\$125,000.00	\$125,000.00		\$110,000.00	\$125,000.00	\$125,000.00
166 603-0022	11 Each	Lighting Standard, Type L-MG-26-SB	\$6,900.00	\$75,900.00	\$11,273.46	\$124,008.06	\$9,500.00	\$104,500.00		\$85,800.00	\$8,400.00	\$92,400.00
167 603-0103	1 Each	Type LP5 Luminaire, 124W	\$3,000.00	\$3,000.00	\$10,879.87	\$10,879.87	\$3,200.00	\$3,200.00		\$2,700.00	\$2,800.00	\$2,800.00
168 603-0108	17 Each	Type LP3 Luminaire, 85W	\$3,000.00	\$51,000.00	\$1,789.91	\$30,428.47	\$3,200.00	\$54,400.00	\$2,600.00	\$44,200.00	\$2,750.00	\$46,750.00
169 603-0109	10 Each	Type LP9 Luminaire, 124W	\$2,500.00	\$25,000.00	\$3,535.38	\$35,353.80	\$3,200.00	\$32,000.00	\$2,700.00	\$27,000.00	\$2,800.00	\$28,000.00
170 703-0001	2,000.00 S.Y.	Topsoil	\$9.00	\$18,000.00	\$9.53	\$19,060.00	\$15.00	\$30,000.00	\$8.00	\$16,000.00	\$8.50	\$17,000.00
171 704-0001	2,000.00 S.Y.	Seeding, Type A	\$2.00	\$4,000.00	\$1.81	\$3,620.00	\$7.00	\$14,000.00	\$2.00	\$4,000.00	\$1.65	\$3,300.00
172 706-0001	1,600.00 S.Y.	Permanent Soil Stabilization Matting	\$5.00	\$8,000.00	\$5.43	\$8,688.00	\$5.00	\$8,000.00	\$5.00	\$8,000.00	\$5.00	\$8,000.00
173 801-0001	1 L.S.	Furnishing Traffic Control Devices	\$185,000.00	\$185,000.00	\$155,681.82	\$155,681.82	\$450,000.00	\$450,000.00	\$950,000.00	\$950,000.00	\$944,094.35	\$944,094.35
174 801-0002	4,900.00 L.F.	Furnishing Precast Concrete Construction Barrier	\$75.00	\$367,500.00	\$70.03	\$343,147.00	\$15.00	\$73,500.00		\$196,000.00	\$40.00	\$196,000.00
175 801-0003	8,200.00 L.F.	Placing and Removing Precast Concrete Construction Barrier	\$30.00	\$246,000.00	\$36.54	\$299,628.00	\$75.00	\$615,000.00	\$50.00	\$410,000.00	\$30.00	\$246,000.00
176 801-0005	4,440.00 L.F.	Modular Glare Screen System	\$8.00	\$35,520.00	\$34.57	\$153,490.80	\$15.00	\$66,600.00	\$25.00	\$111,000.00	\$15.00	\$66,600.00
177 801-0009	20 Each	Furnishing Portable Variable Message Sign	\$1.00	\$20.00	\$11,947.09	\$238,941.80	\$10,000.00	\$200,000.00		\$40,000.00	\$13,000.00	\$260,000.00
			•	*	*	-	•	•	-	-	-	•

		BaseLine Item Detail	Ferreira Cons	truction Co. Inc.	Schiavone Cons	struction Co. LLC	Joseph M.	Sanzari, Inc.	D'Annunzio	& Sons, Inc.	Conti Enter	rprises, Inc.
Item No. Unit Code	Qty UC	M Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
178 801-0018	2 Eac	h Furnishing Temporary Impact Attenuator (Array), 70 MPH	\$4,250.00	\$8,500.00	\$11,424.50	\$22,849.00	\$5,000.00	\$10,000.00	\$9,000.00	\$18,000.00	\$8,400.00	\$16,800.00
179 801-0019	24 Ea	h Placing and Removing Temporary Impact Attenuator (Array), 70 MPH	\$950.00	\$22,800.00	\$3,401.62	\$81,638.88	\$4,500.00	\$108,000.00	\$2,200.00	\$52,800.00	\$1,450.00	\$34,800.00
180 801-0013	2 Eac	h Furnishing Truck with Mounted Attenuator	\$1,500.00	\$3,000.00	\$66,372.75	\$132,745.50	\$10,000.00	\$20,000.00	\$25,000.00	\$50,000.00	\$45,000.00	\$90,000.00
181 801-0014	250 M.	H. Furnishing Truck with Mounted Attenuator for Engineer's Use	\$0.10	\$25.00	\$1.00	\$250.00	\$145.00	\$36,250.00	\$105.00	\$26,250.00	\$115.00	\$28,750.00
182 801-0015	7 Ea	h Repair Truck Mounted Impact Attenuators	\$100.00	\$700.00	\$12,067.77	\$84,474.39	\$100.00	\$700.00	\$4,200.00	\$29,400.00	\$1,500.00	\$10,500.00
183 801-0020	12 Ea	h Repair and Reset Temporary Impact Attenuator (Array) Module	\$100.00	\$1,200.00	\$904.17	\$10,850.04	\$750.00	\$9,000.00	\$500.00	\$6,000.00	\$500.00	\$6,000.00
184 801-N0001	325 Ea	h Installation, Maintenance, and Removal of Lane Closing	\$1.00	\$325.00	\$7,118.23	\$2,313,424.75	\$100.00	\$32,500.00	\$3,000.00	\$975,000.00	\$3,450.00	\$1,121,250.00
185 801-N0003	100 Da	Placing and Removing Portable Variable Message Sign	\$1.00	\$100.00	\$135.11	\$13,511.00	\$500.00	\$50,000.00	\$100.00	\$10,000.00	\$200.00	\$20,000.00
186 803-0001	1 L.S	Maintenance and Protection of Traffic on Location No. 1	\$20,000.00	\$20,000.00	\$57,242.04	\$57,242.04	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00	\$13,500.00	\$13,500.00
187 803-0032	30,000.00 US	Police Traffic Directors (No-Bid)	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00
188 406-0002	5 C.Y	. Concrete Foundations for Ground Mounted Signs	\$1,200.00	\$6,000.00	\$1,965.84	\$9,829.20	\$65.00	\$325.00	\$1,700.00	\$8,500.00	\$1,800.00	\$9,000.00
189 406-N0001	350 LB	Aluminum Posts For Parapet-Mounted Signs	\$60.00	\$21,000.00	\$65.17	\$22,809.50	\$2,500.00	\$875,000.00	\$55.00	\$19,250.00	\$60.00	\$21,000.00
190 509-0008	50 L.F	Timber Posts	\$150.00	\$7,500.00	\$189.46	\$9,473.00	\$200.00	\$10,000.00	\$160.00	\$8,000.00	\$175.00	\$8,750.00
191 801-0004	11,280.00 L.F	Resetting Precast Concrete Construction Barrier	\$20.00	\$225,600.00	\$10.62	\$119,793.60	\$10.00	\$112,800.00	\$3.00	\$33,840.00	\$23.00	\$259,440.00
192 517-0013	20,000.00 US	Purnish Office Supplies (No-Bid)	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
				\$31,472,110.00	1	\$32,400,000.00		\$34,869,430.00		\$35,257,000.00		\$35,615,442.00

		BaseLine Item Detail	IEW Construc	tion Group Inc.	Union Paving & Co	onstruction Co., Inc.
m No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total
1 104-0001	1 L.S.	Construction Layout	\$200,000.00	\$200,000.00	\$500,000.00	\$500,000.00
2 104-0002	1.00 L.S.	Mobilization	\$1,800,000.00	\$1,800,000.00	\$1,800,000.00	\$1,800,000.00
3 107-0001	1 L.S.	Progress Schedule	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00
4 108-0001	15,000.00 USD	Fuel Price Adjustment (No-Bid)	\$1.00	\$15,000.00	\$1.00	\$15,000.00
5 202-0002	5,835.00 C.Y.	Roadway Excavation, Earth	\$110.77	\$646,342.95	\$30.00	\$175,050.00
6 202-N0001	100.00 C.Y.	Handling, Loading, Transportation, and Disposal of Contaminated Soil	\$151.58	\$15,158.00	\$100.00	\$10,000.00
7 203-0002	98 C.Y.	Embankment, Grade A	\$66.52	\$6,518.96	\$65.00	\$6,370.00
8 203-0004	685 C.Y.	Porous Fill	\$74.42	\$50,977.70	\$95.00	\$65,075.00
9 207-0061	5 Ton	Filter Blanket	\$131.75	\$658.75	\$125.00	\$625.00
10 208-0007	2,500.00 L.F.	Silt Fence	\$8.47	\$21,175.00	\$5.00	\$12,500.0
11 208-0022	20 Each	Inlet Filter, Type 2	\$419.89	\$8,397.80	\$180.00	\$3,600.0
12 208-N0001	1.00 Each	Concrete Washout Facility	\$18,323.10	\$18,323.10	\$10,000.00	\$10,000.0
13 208-N0009	1.00 Each	Oil-Only Emergency Spill Kit, Type 1	\$1,221.54	\$1,221.54	\$1,000.00	\$1,000.0
14 210-0002	1 L.S.	Demolition Of Existing Structures No. 1	\$900,000.00	\$900,000.00	\$3,500,000.00	\$3,500,000.0
15 301-0001	12,285.00 S.Y.	Aggregate Base Course, 6.5in Thick	\$20.31	\$249,508.35	\$19.00	\$233,415.0
16 302-0001	2,040.00 Ton	Hot Mix Asphalt 19M 76 Intermediate Course	\$222.62	\$454,144.80	\$145.00	\$295,800.0
17 302-0002	2,780.00 Ton	Hot Mix Asphalt 12.5M76 Surface Course	\$245.45	\$682,351.00	\$150.00	\$417,000.0
18 302-0002	5,220.00 Ton	Hot Mix Asphalt 25M64 Base Course	\$165.54	\$864,118.80	\$110.00	\$574,200.0
	•	·	· · · · · · · · · · · · · · · · · · ·		\$25.00	
19 302-0062	3,250.00 S.Y.	Membrane Waterproofing	\$30.37	\$98,702.50	•	\$81,250.0
20 302-0063	25,000.00 USD	Asphalt Price Adjustment (No-Bid)	\$1.00	\$25,000.00	\$1.00	\$25,000.0
21 302-0064	1,160.00 GAL	Tack Coat	\$8.56	\$9,929.60	\$7.00	\$8,120.0
22 302-0065	1,000.00 L.F.	Cleaning Inside Shoulders	\$1.14	\$1,140.00	\$0.75	\$750.0
23 302-0066	1,000.00 L.F.	Cleaning Outside Shoulders	\$1.14	\$1,140.00	\$0.75	\$750.0
24 302-0068	20 Ton	High Performance Cold Patch	\$802.04	\$16,040.80	\$300.00	\$6,000.0
25 302-0071	5,140.00 L.F.	Polymerized Joint Adhesive	\$1.60	\$8,224.00	\$2.00	\$10,280.0
26 302-N0001	500 L.F.	Sealing Cracks in Bituminous Surface	\$5.71	\$2,855.00	\$6.00	\$3,000.0
27 302-N0002	30 Ton	Temporary Surfacing	\$600.00	\$18,000.00	\$240.00	\$7,200.0
28 303-0001	845 S.Y.	Berm Surfacing, 3 Inches Thick	\$57.08	\$48,232.60	\$60.00	\$50,700.0
29 303-N0001	2,150.00 S.Y.	Shoulder Reconstruction	\$99.43	\$213,774.50	\$70.00	\$150,500.0
30 304-0002	70 S.Y.	Bridge Approach Slab	\$698.22	\$48,875.40	\$400.00	\$28,000.0
31 304-N0001	50 S.F.	Approach Slab Spall Repair, Type 1	\$177.27	\$8,863.50	\$130.00	\$6,500.0
32 304-N0002	50 S.F.	Approach Slab Spall Repair, Type 2	\$332.88	\$16,644.00	\$240.00	\$12,000.0
33 305-0011	50 S.Y.	Surface Milling, 3in Average Depth	\$22.83	\$1,141.50	\$25.00	\$1,250.0
34 305-0031	19,220.00 S.Y.	Pavement Removal, Variable Depth	\$14.27	\$274,269.40	\$13.00	\$249,860.0
35 306-0001	4,860.00 L.F.	Milled Rumble Strip	\$10.90	\$52,974.00	\$3.50	\$17,010.0
36 401-0004	400,500.00 LB	Reinforcement Steel, Galvanized	\$2.39	\$957,195.00	\$2.40	\$961,200.0
37 401-0009	35.00 C.Y.	Concrete In Bridge Parapet	\$1,675.91	\$58,656.85	\$1,300.00	\$45,500.0
38 401-0011	65 C.Y.	Concrete In Substructure Above Footings	\$2,731.84	\$177,569.60	\$1,000.00	\$65,000.0
39 401-0035	950 Each	Drill and Grout Reinforcement Bars	\$51.28	\$48,716.00	\$35.00	\$33,250.0
40 401-0067	34,800.00 LB	Reinforcement Steel, Epoxy Coated	\$2.08	\$72,384.00	\$2.00	\$69,600.0
41 401-0068	1,120.00 L.F.	Strip Seal Expansion Joints	\$702.60	\$786,912.00	\$600.00	\$672,000.0
42 401-0070	1,100.00 S.F.	Concrete Penetrating Sealer Treatment	\$7.99	\$8,789.00	\$6.00	\$6,600.0
43 401-0072	5,110.00 S.Y.	Sawcut Grooved Deck Surface	\$11.98	\$61,217.80	\$11.00	\$56,210.0
44 401-N0009	5,500.00 Each	Reinforcement Bar Coupler, Galvanized	\$32.98	\$181,390.00	\$60.00	\$330,000.0
45 403-0001	6,900.00 Each	Shear Connectors	\$5.14	\$35,466.00	\$9.00	\$62,100.0
46 403-0022	57,000.00 LB	Structural Steel	\$16.84	\$959,880.00	\$16.00	\$912,000.0
47 403-N0006	1 L.S.	Structural Steel Structure No. 1	\$3,900,000.00	\$3,900,000.00	\$3,000,000.00	\$3,000,000.0
48 407-N0012		HLMR Bearing, 150 Kips - 250 Kips (Type 3 - Fixed)	\$7,552.17	\$90,626.04	\$6,500.00	\$78,000.0
49 407-N0013	6 Each	HLMR Bearing, 250 Kips - 350 Kips (Type 4 - Fixed)	\$8,315.59	\$49,893.54	\$6,500.00	\$39,000.0
50 407-N0014	12 Each	HLMR Bearings, 150 Kips - 250 Kips (Type 1 - Guided Expansion)	\$7,540.75	\$90,489.00	\$6,500.00	\$78,000.0
51 407-N0015	6.00 Each	HLMR Bearings, 250 Kips - 350 Kips (Type 2 - Guided Expansion)	\$7,540.75	\$45,244.50	\$6,500.00	\$39,000.0
52 408-0048	8 Each	Laminated Elastomeric Bearing, 11in X 13in	\$5,196.11	\$41,568.88	\$4,700.00	\$37,600.0
53 408-0074	4 Each	Laminated Elastomeric Bearing, 12In X 16In	\$5,681.74	\$22,726.96	\$4,700.00	\$18,800.0
54 408-0075	3 Each	Laminated Elastomeric Bearing, 8In X 10In, Guided	\$4,881.81	\$14,645.43	\$4,700.00	\$14,100.0
55 408-0076	15 Each	Laminated Elastomeric Bearing, 11In X 13In, Guided	\$5,744.86	\$86,172.90	\$4,700.00	\$70,500.0
56 408-0077	16 Each	Laminated Elastomeric Bearing, 13ln X 13ln	\$5,551.64	\$88,826.24	\$4,700.00	\$75,200.0
57 408-0078	11 Each	Laminated Elastomeric Bearing, 8In X 10In	\$4,630.85	\$50,939.35	\$4,700.00	\$51,700.0
		Laurington de Floritania de Paraire de Alla VAQUE	¢4.004.67	642.062.02	ć 4 700 00	¢42.200.0
58 408-0079	9.00 Each	Laminated Elastomeric Bearing, 10In X 10In	\$4,884.67	\$43,962.03	\$4,700.00	\$42,300.0

		BaseLine Item Detail	IEW Construc	tion Group Inc.	Union Paving & Co	nstruction Co., Inc.
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total
60 408-0081	6 Each	Laminated Elastomeric Bearing, 11In X 11In	\$5,905.61	\$35,433.66	\$4,900.00	\$29,400.00
61 408-0082	4 Each	Laminated Elastomeric Bearing, 15In X 16In, Guided	\$7,219.76	\$28,879.04	\$4,900.00	\$19,600.00
62 408-0083	3 Each	Laminated Elastomeric Bearing, 11In X 8In, Guided	\$5,268.25	\$15,804.75	\$4,900.00	\$14,700.00
63 408-0084	3 Each	Laminated Elastomeric Bearing, 11In X 11In, Guided	\$6,313.96	\$18,941.88	\$4,900.00	\$14,700.00
64 411-N0001	24,000.00 S.F.	Painting Existing Steelwork	\$52.51	\$1,260,240.00	\$45.00	\$1,080,000.00
65 412-0001	2 Each	Inlet Frames and Grates	\$3,328.19	\$6,656.38	\$6,000.00	\$12,000.00
66 412-0003	85.00 L.F.	8in Drainage Pipe, Fiberglass	\$515.76	\$43,839.60	\$250.00	\$21,250.00
67 412-N0003	10 Each	Weld Existing Inlet Grate	\$1,232.99	\$12,329.90	\$300.00	\$3,000.00
68 413-0004	120.00 S.Y.	Repair Concrete Slope Protection	\$386.10	\$46,332.00	\$120.00	\$14,400.00
69 415-0001	700.00 S.F.	Temporary Sheeting	\$278.90	\$195,230.00	\$75.00	\$52,500.00
70 417-0002	3,640.00 S.Y.	Removal of Existing Concrete Deck	\$473.75	\$1,724,450.00	\$600.00	\$2,184,000.00
71 417-0004	490 S.Y.	Concrete Deck Replacement	\$1,300.81	\$637,396.90	\$1,500.00	\$735,000.00
72 417-0008	150 Each	Reinforcement Bar Coupler	\$32.98	\$4,947.00	\$50.00	\$7,500.00
73 417-0009	6,550.00 S.Y.	Removal of Existing Surfacing	\$41.98	\$274,969.00	\$11.00	\$72,050.00
74 417-0013	50 S.F.	Spall Repair, Type 1	\$107.65	\$5,382.50	\$130.00	\$6,500.00
75 417-0014	50 S.F.	Spall Repair, Type 2	\$146.32	\$7,316.00	\$150.00	\$7,500.00
76 417-0015	50 S.F.	Spall Repair, Type 4	\$332.21	\$16,610.50	\$400.00	\$20,000.00
77 417-0016	4,000.00 S.F.	Spall Repair, Type 5	\$105.45	\$421,800.00	\$110.00	\$440,000.00
78 417-0018	50 S.F.	Spall Repair, Type 6	\$327.27	\$16,363.50	\$300.00	\$15,000.00
79 417-0019	50 S.F.	Spall Repair, Type 5B	\$112.07	\$5,603.50	\$145.00	\$7,250.00
80 417-0020	500 L.F.	Joint Reconstruction, Type 1	\$413.21	\$206,605.00	\$365.00	\$182,500.00
81 417-0021	600 L.F.	Joint Seal Replacement, Type 1	\$192.53	\$115,518.00	\$50.00	\$30,000.00
82 417-0033	40 S.F.	Repair Underdeck Spalls (Clean and Coat)	\$227.53	\$9,101.20	\$100.00	\$4,000.00
83 417-0037	60 L.F.	Joint Reconstruction, Type 2	\$611.69	\$36,701.40	\$400.00	\$24,000.00
84 417-0039	1 L.S.	Furnishing, Installation And Removal Of Temporary Catch, Location No. 1	\$100,000.00	\$100,000.00	\$350,000.00	\$350,000.00
85 417-0067	50 L.F.	Silicone Joint Seal	\$90.06	\$4,503.00	\$30.00	\$1,500.00
86 417-0068	100 L.F.	Deck Joint Reconstruction	\$1,000.23	\$100,023.00	\$700.00	\$70,000.00
87 417-0070	70.00 L.F.	Headblock Repair, Type 1	\$320.00	\$22,400.00	\$175.00	\$12,250.00
88 417-0084	40 L.F.	Parapet Reconstruction Location No. 1	\$1,470.29	\$58,811.60	\$1,700.00	\$68,000.00
89 417-0089	1,040.00 L.F.	Parapet Reconstruction, Location No. 2	\$2,133.79	\$2,219,141.60	\$1,900.00	\$1,976,000.00
90 417-0090	170.00 L.F.	Parapet Reconstruction, Location No. 3	\$1,749.08	\$297,343.60	\$1,200.00	\$204,000.00
91 417-0104	3,800.00 S.Y.	Catches	\$234.00	\$889,200.00	\$200.00	\$760,000.00
92 417-0118	1 L.S.	Furnishing, Installation and Removal of Temporary Catch, Location No. 3	\$300,000.00	\$300,000.00	\$500,000.00	\$500,000.00
93 417-N0003	6,900.00 L.F.	Reinforcement Steel, Field Anti-Corrosion Coating	\$8.35	\$57,615.00	\$5.00	\$34,500.00
94 417-N0009	1 L.S.	Furnishing, Installation and Removal of Temporary Catch, Location No. 2	\$1,000,000.00	\$1,000,000.00	\$1,500,000.00	\$1,500,000.00
95 417-N0027	450 S.Y.	Furnishing and Installing SIP Metal Forms	\$478.49	\$215,320.50	\$425.00	\$191,250.00
96 418-0001	900 S.F.	Repair Spalled Concrete, Type 1 - Abutment	\$290.27	\$261,243.00	\$160.00	\$144,000.00
97 418-0002	100.00 S.F.	Repair Spalled Concrete, Type 2 - Abutment	\$364.83	\$36,483.00	\$225.00	\$22,500.00
98 418-0003	100 S.F.	Repair Spalled Concrete, Type 2 - Pier	\$386.33	\$38,633.00	\$295.00	\$29,500.00
99 418-0004	30.00 Each	Repair of Structural Steel, Type A	\$4,509.42	\$135,282.60	\$3,800.00	\$114,000.00
100 418-0005	5 Each	Repair of Structural Steel, Type B	\$3,995.69	\$19,978.45	\$3,500.00	\$17,500.00
101 418-0006	10.00 Each	Repair of Structural Steel, Type C	\$3,995.69	\$39,956.90	\$3,300.00	\$33,000.00
102 418-0007	2 Each	Repair of Structural Steel, Type D	\$6,415.94		\$19,000.00	\$38,000.00
103 418-0008	4 Each	Repair of Structural Steel, Type E	\$34,933.75		\$37,000.00	\$148,000.00
104 418-0009	4 Each	Repair of Structural Steel, Type F	\$16,793.06		\$17,000.00	\$68,000.00
105 418-0010	1 Each	Repair of Structural Steel, Type G	\$15,195.04		\$15,000.00	\$15,000.00
106 418-0011	2,500.00 S.F.	Repair Spalled Concrete, Type 1 - Pier	\$304.56		\$220.00	\$550,000.00
107 418-0023	180 L.F.	Epoxy Resin Injection	\$171.24		\$135.00	\$24,300.00
107 418-0023	100 S.F.	Substructure Waterproofing	\$18.27			\$2,500.00
109 418-0025	8,800.00 S.F.	Substructure Membrane Waterproofing	\$18.27	\$1,827.00	\$16.00	\$140,800.00
110 418-0028	56 Each	· -	\$5,473.03			\$448,000.00
		Reconstruct Bearing Area	\$3,473.03 \$1,217.75			\$15,000.00
111 418-0039	10 Each	Replace Anchor Bolt	\$1,217.75 \$84.54			\$15,000.00
112 418-0040	100 L.F.	Clean Bridge Seat				
113 418-0051	5 Each	Replace Structural Steel Diaphragm	\$13,870.75		\$12,000.00	\$60,000.00
114 418-0053	145 Each	Temporary Support	\$4,000.00		\$8,500.00	\$1,232,500.00
115 418-0055	100 Each	Replace Rivets with High Strength Bolts	\$285.41			\$30,000.00
116 428-0001	1,400.00 C.Y.	Concrete in Deck, HPC	\$1,484.39	\$2,078,146.00	\$2,000.00	\$2,800,000.00
	~- ~					
117 428-0003 118 428-0004	25 C.Y. 355.00 C.Y.	Concrete in Headblock, HPC Concrete in Parapet, HPC	\$3,137.07 \$1,705.59	\$78,426.75 \$605,484.45	\$3,200.00 \$1,100.00	\$80,000.00 \$390,500.00

		BaseLine Item Detail	IEW Construction	on Group Inc.	Union Paving & Cons	struction Co., Inc.
em No. Unit Code	Qty UOM	Description	Unit Price Li	ne Total	Unit Price Li	ne Total
119 428-0007	495 S.Y.	Bridge Approach Slab, HPC	\$737.96	\$365,290.20	\$650.00	\$321,750.00
120 499-N0002	160 S.F.	Remove and Reset Stone Masonry	\$119.25	\$19,080.00	\$175.00	\$28,000.00
121 499-N0007	120 L.F.	Repoint Stone Masonry	\$49.43	\$5,931.60	\$20.00	\$2,400.00
122 499-N0132	7 C.Y.	Concrete in Deck, UHPC	\$9,707.14	\$67,949.98	\$2,000.00	\$14,000.00
123 502-0005	60 L.F.	15 in Reinforced Concrete Pipe, Class III	\$235.76	\$14,145.60	\$150.00	\$9,000.00
124 502-0251	1,150.00 L.F.	Cleaning Existing Storm Drains	\$10.27	\$11,810.50	\$11.00	\$12,650.00
125 503-0003	1.00 Each	Inlet, Type D2	\$7,075.10	\$7,075.10	\$6,000.00	\$6,000.00
126 503-0007	1.00 Each	Inlet, Type D2 Doghouse	\$12,608.33	\$12,608.33	\$6,500.00	\$6,500.00
127 503-0008	2 Each	Inlet, Type D1	\$5,731.00	\$11,462.00	\$3,000.00	\$6,000.00
128 503-0252	6 Each	Reconstructed Inlet, Type D1, Using New Grate and Frame	\$4,931.92	\$29,591.52	\$2,200.00	\$13,200.00
129 505-0001	40 L.F.	Asphalt Concrete Lip Curb	\$28.99	\$1,159.60	\$200.00	\$8,000.00
130 509-0001	100 S.F.	Sign Panels	\$75.35	\$7,535.00	\$75.00	\$7,500.00
131 509-0002	100 L.F.	U-channel Post	\$57.08	\$5,708.00	\$50.00	\$5,000.00
132 509-0004	10.00 Each	Remove Signs	\$388.15	\$3,881.50	\$500.00	\$5,000.00
133 510-0001	2,450.00 L.F.	Beam Guide Rail	\$48.52	\$118,874.00	\$34.00	\$83,300.0
134 510-0014	5 Each	Parapet Connection, Type A	\$7,991.38	\$39,956.90	\$2,800.00	\$14,000.00
135 510-0015	4 Each	Parapet Connection, Type B	\$2,625.74	\$10,502.96	\$700.00	\$2,800.00
136 510-0031	2,390.00 L.F.	Removal of Beam Guide Rail	\$4.00	\$9,560.00	\$2.00	\$4,780.00
137 510-N0001	100 L.F.	Reset Beam Guide Rail with Existing Post	\$31.97	\$3,197.00	\$15.00	\$1,500.00
138 515-0002	25 Each	Delineator, Type CA-Y	\$273.99	\$6,849.75	\$110.00	\$2,750.00
139 516-0001	500 L.F.	Removable Wet Weather Pavement Marking Tape	\$3.42	\$1,710.00	\$4.00	\$2,000.00
140 516-0005	113,900.00 L.F.	Striping and Marking Removal, Hydromilling	\$0.86	\$97,954.00	\$0.80	\$91,120.00
141 516-0006	1,000.00 L.F.	Striping and Marking Removal, Mechanical	\$2.28	\$2,280.00	\$2.50	\$2,500.00
142 516-0007	172,500.00 L.F.	Temporary Pavement Striping	\$0.29	\$50,025.00	\$0.27	\$46,575.00
143 516-0009	23,500.00 L.F.	Traffic Stripes, Long-Life, Thermoplastic	\$1.43	\$33,605.00	\$1.30	\$30,550.00
144 516-N0001	1,000.00 L.F.	Removable Black Line Mask, 8in Wide	\$4.00	\$4,000.00	\$4.00	\$4,000.00
145 517-0003	1 L.S.	Furnish Field Office, Type C	\$28,719.87	\$28,719.87	\$50,000.00	\$50,000.00
146 517-0009	30.00 Mnth	Maintain Field Office, Type C	\$5,863.39	\$175,901.70	\$3,500.00	\$105,000.00
147 801-0021	4 Each	Furnishing Temporary Impact Attenuator (Cartridge), 8 Bays, 24 Inch Wide	\$10,260.93	\$41,043.72	\$2,000.00	\$8,000.00
148 801-0022	4.00 Each	Placing and Removing Temporary Impact Attenuator (Cartridge)	\$3,235.61	\$12,942.44	\$5,000.00	\$20,000.00 \$20,000.00
149 801-0023	4 Each	Repair and Reset Temporary Impact Attenuator (Cartridge)	\$5,434.38	\$21,737.52	\$5,000.00	
150 530-0001	125 Each 250000 USD	Raised Pavement Markers	\$45.61	\$5,701.25	\$45.00	\$5,625.00
151 532-0001	1 L.S.	Force Account for Emergency and Routine Roadway and Bridge Repairs (No-Bid)	\$1.00 \$14,270.32	\$250,000.00	\$1.00	\$250,000.00
152 599-N0001		Ride Quality Testing for Micro-Milled Deck Surfaces		\$14,270.32	\$10,000.00	\$10,000.0
153 599-N0002	4,590.00 S.Y.	Micro-Milling Deck Surface	\$21.67	\$99,465.30	\$19.00	\$87,210.0
154 599-N0007	100 Each	Furnish and Install Raised Pavement Marker Reflective Lens	\$22.78	\$2,278.00	\$25.00	\$2,500.00
155 601-0001	1 L.S.	Remove and Salvage Existing Facilities	\$13,699.51	\$13,699.51	\$16,000.00	\$16,000.00
156 601-0003	21,000.00 L.F.	#2 A.W.G. Multiple Lighting Cable	\$6.56	\$137,760.00	\$5.50	\$115,500.00
157 601-0009	700 L.F.	3in Rigid Nonmetallic Conduit, PVC-(Schedule 40)	\$28.54	\$19,978.00	\$21.00	\$14,700.00
158 601-0019	3,600.00 L.F.	#4 A.W.G. Ground Wire	\$5.14	\$18,504.00	\$4.00	\$14,400.00
159 601-0022	18 Each	Junction Box, Type D	\$2,169.09	\$39,043.62	\$2,200.00	\$39,600.00
160 601-0134	480 L.F.	3in Rigid Metallic Conduit on Structures	\$62.79	\$30,139.20	\$85.00	\$40,800.00
161 601-N0005	30,000.00 USD	Miscellaneous Electrical Work (No-Bid)	\$1.00	\$30,000.00	\$1.00	\$30,000.00
162 601-N0050	6,700.00 L.F.	3in Rigid Nonmetallic Conduit on Structures, PVC-(Schedule 80)	\$34.25	\$229,475.00	\$18.00	\$120,600.0
163 601-N0061	200 L.F.	3in Rigid Metallic Conduit, PVC Coated, Exposed	\$108.45	\$21,690.00	\$235.00	\$47,000.0
164 603-0008	1 Each	Lighting Standard, Type L-MG-26	\$4,446.71	\$4,446.71	\$4,000.00	\$4,000.0
165 603-0014	1 L.S.	Temporary Lighting Systems	\$235,403.26	\$235,403.26	\$100,000.00	\$100,000.0
166 603-0022	11 Each	Lighting Standard, Type L-MG-26-SB	\$6,929.75	\$76,227.25	\$7,800.00	\$85,800.0
167 603-0103	1 Each	Type LP5 Luminaire, 124W	\$2,334.63	\$2,334.63	\$3,000.00	\$3,000.0
168 603-0108	17 Each	Type LP3 Luminaire, 85W	\$2,186.21	\$37,165.57	\$3,000.00	\$51,000.0
169 603-0109	10 Each	Type LP9 Luminaire, 124W	\$2,334.63	\$23,346.30	\$3,000.00	\$30,000.0
170 703-0001	2,000.00 S.Y.	Topsoil	\$9.02	\$18,040.00	\$10.00	\$20,000.0
171 704-0001	2,000.00 S.Y.	Seeding, Type A	\$1.71	\$3,420.00	\$2.00	\$4,000.0
172 706-0001	1,600.00 S.Y.	Permanent Soil Stabilization Matting	\$5.14	\$8,224.00	\$4.00	\$6,400.0
173 801-0001	1 L.S.	Furnishing Traffic Control Devices	\$1,400,000.00	\$1,400,000.00	\$700,000.00	\$700,000.0
174 801-0002	4,900.00 L.F.	Furnishing Precast Concrete Construction Barrier	\$39.72	\$194,628.00	\$22.00	\$107,800.0
175 801-0003	8,200.00 L.F.	Placing and Removing Precast Concrete Construction Barrier	\$15.64	\$128,248.00	\$50.00	\$410,000.0
176 801-0005	4,440.00 L.F.	Modular Glare Screen System	\$19.50	\$86,580.00	\$22.00	\$97,680.0

		BaseLine Item Detail	IEW Construc	ction Group Inc.	Union Paving & Co	enstruction Co., Inc.
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total
178 801-0018	2 Each	Furnishing Temporary Impact Attenuator (Array), 70 MPH	\$7,743.70	\$15,487.40	\$10,000.00	\$20,000.00
179 801-0019	24 Each	Placing and Removing Temporary Impact Attenuator (Array), 70 MPH	\$1,628.39	\$39,081.36	\$2,000.00	\$48,000.00
180 801-0013	2 Each	Furnishing Truck with Mounted Attenuator	\$9,161.55	\$18,323.10	\$35,000.00	\$70,000.00
181 801-0014	250 M.H.	Furnishing Truck with Mounted Attenuator for Engineer's Use	\$118.83	\$29,707.50	\$1.00	\$250.00
182 801-0015	7 Each	Repair Truck Mounted Impact Attenuators	\$1.00	\$7.00	\$1.00	\$7.00
183 801-0020	12 Each	Repair and Reset Temporary Impact Attenuator (Array) Module	\$376.13	\$4,513.56	\$1,000.00	\$12,000.00
184 801-N0001	325 Each	Installation, Maintenance, and Removal of Lane Closing	\$3,266.06	\$1,061,469.50	\$3,200.00	\$1,040,000.00
185 801-N0003	100 Day	Placing and Removing Portable Variable Message Sign	\$1.00	\$100.00	\$100.00	\$10,000.00
186 803-0001	1 L.S.	Maintenance and Protection of Traffic on Location No. 1	\$40,000.00	\$40,000.00	\$30,000.00	\$30,000.00
187 803-0032	30,000.00 USD	Police Traffic Directors (No-Bid)	\$1.00	\$30,000.00	\$1.00	\$30,000.00
188 406-0002	5 C.Y.	Concrete Foundations for Ground Mounted Signs	\$1,859.71	\$9,298.55	\$600.00	\$3,000.00
189 406-N0001	350 LB	Aluminum Posts For Parapet-Mounted Signs	\$61.65	\$21,577.50	\$16.00	\$5,600.00
190 509-0008	50 L.F.	Timber Posts	\$179.24	\$8,962.00	\$45.00	\$2,250.00
191 801-0004	11,280.00 L.F.	Resetting Precast Concrete Construction Barrier	\$5.44	\$61,363.20	\$4.00	\$45,120.00
192 517-0013	20,000.00 USD	Furnish Office Supplies (No-Bid)	\$1.00	\$20,000.00	\$1.00	\$20,000.00
				\$36,428,658.94		\$36,861,452.00